

Republic of the Philippines DEPARTMENT OF HEALTH PHILIPPINE CHILDREN'S MEDICAL CENTER

Quezon Avenue, Quezon City 1100
website: www.pcmc.gov.ph email: officeofthedirector@pcmc.gov.ph
Trunk Line: 8588-9900 to 20 Direct Line: 8924-6601

NOTICE OF AWARD NOA-2023-023-004

EURO-MED LABORATORIES PHIL., INC.

Cor San Marcelino St., United Nations Avenue, Manila Tel. No. 8524-0091 to 98

Dear Sir / Madam:

This is to inform you that based on the result of the Public Bidding conducted on December 7, 2022 for Various Pharmaceutical Supplies CY2023 under Invitation to Bid No. IB-2023-018, as per BAC Resolution No. R2023-00-030, your proposal was found to be the Lowest Calculated and Responsive Bid (LCRB):

SET	ITEM NO.	QTY	UNIT	ITEM DESCRIPTION	BRAND, PACKI SPECIFICATION		MANUFACTURER	UNIT COST	TOTAL AMOUNT
A	1	4,800	bt	00.9% NaCl 1L for Irrigation	0.9% Sodium Chloride for Irrigation, 1000ml	None	Euro-Med Laboratories Phil., Inc.	32.00	153,600.00
А	2	2,000	bt	05% D (D5W) 250mL (IV inf) glass bot	5% Dextrose in Water, 250ml (Glass)	None	Euro-Med Laboratories Phil., Inc.	95.00	190,000.00
А	3	17,000	vl	50% D in W (D50- 50) vl 50mL (IV)	50% Dextrose Solution for IV Injection, 50ml	None	Euro-Med Laboratories Phil., Inc.	29.75	505,750.00
А	25	4,000	amp	Calcium Gluconate amp 10% 10mL (IV)	Calcium Gluconate 10% Solution for Injection, 10ml	None	Euro-Med Laboratories Phil., Inc.	17.64	70,560.00
А	89	5,000	amp	Lidocaine HCl amp 2% 5mL	Lidocaine Hydrochloride 2% Solution for Injection, 5ml	Eurocaine	Euro-Med Laboratories Phil., Inc.	7.95	39,750.00
А	94	1,300	amp	Magnesium Sulf Heptahyd amp 250mg/mL, 20mL (IV,IM)	Magnesium Sulfate 25% (250mg/ml) Solution for Injection, 20ml	None	Euro-Med Laboratories Phil., Inc.	19.32	25,116.00
A	99	500	amp	Metoclopramide HCl amp 5mg/mL, 2mL (IM,IV)	Metoclopramide Hcl 5mg/ml Solution for Injection, 2ml		Euro-Med Laboratories Phil., Inc.	6.44	3,220.00



SET	ITEM NO.	QTY	UNIT	ITEM DESCRIPTION	BRAND, PACK SPECIFICATION		MANUFACTURER	UNIT COST	TOTAL AMOUNT
Α	101	3,500	vl	Metronidazole vl 5mg/mL, 100mL (IV inf), sealed rubber cap	Metronidazole 500mg/100ml Solution for IV Infusion, 100ml	Metrinox I.V.	Euro-Med Laboratories Phil., Inc.	53.95	188,825.00
Α	130	6,000	vl	Potassium Chloride soln vl 2mEq/mL, 20mL (IV inf)	Potassium Chloride 2mEq/ml Solution for IV Injection, 20ml	None	Euro-Med Laboratories Phil., Inc.	23.00	138,000.00
A	141	5,000	vl	Sodium Chloride vl 2.5mEq/ mL, 20mL	Sodium Chloride 2.5mEq/ml Parenteral Solution, 20ml	None	Euro-Med Laboratories Phil., Inc.	19.50	97,500.00
A	144	6,000	bt	Sterile Water for Injection 1000mL, twist cap / sealed rubber cap	Sterile Water for Injection, 1000ml (Twist-Off)	None	Euro-Med Laboratories Phil., Inc.	23.00	138,000.00
A	158	14,000	vl	Water for Injection bt 50mL	Sterile Water for Injection, 50ml	None	Euro-Med Laboratories Phil., Inc.	19.95	279,300.00
A	159	2,500	bt	Water for Injection glass bt 500mL	Sterile Water for Injection, 500ml (Glass)	None	Euro-Med Laboratories Phil., Inc.	121.00	302,500.00
VA7	T-EXEN	ИРТ							
В	2	9,600	bt/ba g	00.9% NaCl 1L (IV inf)	0.9% Sodium Chloride, 1000ml	None	Euro-Med Laboratories Phil., Inc.	34.50	331,200.00
В	3	18,000	bt/ba g	00.9% NaCl 500mL (IV inf)	0.9% Sodium Chloride, 500ml	None	Euro-Med Laboratories Phil., Inc.	22.95	413,100.00
В	5	2,100	bt/ba g	05% D (D5W) 1L (IV inf)	5% Dextrose in Water, 1000ml	None	Euro-Med Laboratories Phil., Inc.	35.00	73,500.00
В	6	360	bt/ba g	05% D in 0.3% NaCl 1L (IV inf)	5% Dextrose in 0.3% Sodium Chloride, 1000ml	None	Euro-Med Laboratories Phil., Inc.	39.88	14,356.80

SET	ITEM NO.	QTY	UNIT	ITEM DESCRIPTION	BRAND, PACK SPECIFICATION		MANUFACTURER	UNIT COST	TOTAL AMOUNT	
В	7	2,400	bt/ba		05% D in 0.9% NaCl 1L (IV inf)	5% Dextrose in 0.9% Sodium Chloride, 1000ml	None	Euro-Med Laboratories Phil., Inc.	34.00	81,600.00
В	8	2,400	bt/ba g	05% D in LR 1L (IV inf)	5% Dextrose in Lactated Ringer's Solution, 1000ml	None	Euro-Med Laboratories Phil., Inc.	35.00	84,000.00	
В	9	1,200	bt/ba g	05% D in LR 500mL (IV inf)	5% Dextrose in Lactated Ringer's Solution, 500ml	None	Euro-Med Laboratories Phil., Inc.	35.00	42,000.00	
В	10	1,440	bt/ba g	10% D (D10W) 500mL (IV inf)	10% Dextrose in Water, 500ml	None	Euro-Med Laboratories Phil., Inc.	34.00	48,960.00	
В	13	360	bt/ba g	Balanced Multiple Maintenance Soln w/5% D adult 1L (IV inf)	Balanced Multiple Maintenance Solution in Dextrose 5% in Water for Adult, 1000ml	EUROSOL- M in Dextrose 5% in Water	Euro-Med Laboratories Phil., Inc.	46.77	16,837.20	
В	14	120	bt/ba g	Balanced Multiple Maintenance Soln w/5% D adult 500mL (IV inf)	Balanced Multiple Maintenance Solution in Dextrose 5% in Water for Adult, 500ml	EUROSOL- M in Dextrose 5% in Water	Euro-Med Laboratories Phil., Inc.	42.00	5,040.00	
В	15	240	bt/ba g	Balanced Multiple Maintenance Soln w/5% D pedia 1L (IV inf)	Balanced Multiple Maintenance Solution in Dextrose 5% in Water for Pedia, 1000ml	EURO- ION in Dextrose 5% in Water	Euro-Med Laboratories Phil., Inc.	46.77	11,224.80	
В	16	1,800	bt/ba g	Balanced Multiple Maintenance Soln w/5% D pedia 500mL (IV inf)	Balanced Multiple Maintenance Solution in Dextrose 5% in Water for Pedia, 500ml	EURO- ION in Dextrose 5% in Water	Euro-Med Laboratories Phil., Inc.	34.00	61,200.00	
В	20	300	amp	Bupivacaine HCl in 8% Dextrose (heavy) amp 0.5%, 4mL, (spinal)	0.5% Bupivacaine Hydrochloride in 8% Dextrose 5mg/80mg per mL Solution for Injection (Spinal), 4ml	None	Euro-Med Laboratories Phil., Inc.	158.40	47,520.00	

SET	ITEM NO.	QTY	UNIT	ITEM DESCRIPTION	BRAND, PACKING, SPECIFICATION, ETC.		MANUFACTURER	UNIT COST	TOTAL AMOUNT
В	49	1,500	bt/ba g	Lactated Ringer's soln 1L (IV inf)	Lactated Ringer's Solution, 1000ml	None	Euro-Med Laboratories Phil., Inc.	44.00	66,000.00
В	50	1,500	bt/ba g	Lactated Ringer's soln 500mL (IV inf)	Lactated Ringer's Solution, 500ml	None	Euro-Med Laboratories Phil., Inc.	34.50	51,750.00
В	54	1,000	bt	Mannitol bt 20% 500mL (IV) sealed rubber cap	20% Mannitol Injection, 500ml	None	Euro-Med Laboratories Phil., Inc.	76.00	76,000.00

GRAND TOTAL = Php 3,556,409.80

Terms and Conditions:

- 1. The prices of the awarded item(s) shall be valid until December 31, 2023.
- 2. Conforme on the attached Terms of Reference, if applicable
- 3. Staggered delivery, staggered payment.
- 4. Delivery Schedule: Within Seven (7) working days upon receipt of Delivery Order Slip.
- Drugs and Medicines to be delivered should have expiration of at least one (1) year and longer or as expressed/required by Pharmacy Division.
- 6. The quantities specified are estimated requirements during the period and may be decreased depending upon the actual need of PCMC. It is understood therefore that PCMC is not bound to order / purchase all the items / quantities called for on this Notice of Award.
- 7. The supplier should submit Materials Safety Data Sheet upon initial delivery, if applicable.

You are hereby required to provide on or before 16 JAN 2023 the Performance Security in either of the following form:

FORM OF PERFORMANCE SECURITY	AMOUNT OF PERFORMANCE SECURITY (Equal to Percentage of the Total Contract Price)
a) Cash or cashier's/ manager's check issued by a Universal or Commercial Bank	Five percent (5%)
b.) Bank draft/guarantee or irrevocable letter of credit issued by a Universal or Commercial Bank: Provided, however, that it shall be confirmed or authenticated by a Universal or Commercial Bank, if issued by a foreign bank	Php177,820.49
 c) Surety bond callable upon demand issued by a surety or insurance company duly certified by the Insurance Commission as authorized to issue such security. 	Thirty percent (30%) Php1,066,922.94

Failure to provide the Performance Security shall constitute sufficient ground for cancellation of the award and imposition of penalties/forfeiture corresponding to the Bid Security posted.

Very truly yours,

SONIA B GONZALEZ, MD, MScHSM, MPM

Executive Director

W

Conforme:

This is to certify that the company has authorized me to accept this award, sign all related documents and hold the company bound by rules and laws applicable thereto.

I further certify to 9184 Sec. 62.1.	nat I have chosen the following mode (as checked) as the form of retention money required of us under R.A.
]] Bank Guarantee
1] 1% Deduction from claims on the first payment for staggered deliveries
Authorized Sign (Signature over 1	V. 100.00
Designation	
Date	